Skills Practice: Sets

1. Set A=(2,4,6,8,10) and Set B is the set of all prime numbers less than 20. Complete the Venn
diagram. The universe, the set of all possible outcomes, is the set of numbers 1 through 19.
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Using the Venn diagram above, list the elements in each of the following sets:
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a. B f.,z,g,g#,u,:a,/:t,ﬁ]

S '{”t,z, 3,4, 5, 6,7, 8,10, 11, 13,17 13}
14

2. Create a Venn Diagram to describe the following event: Rolling a die and flipping a coin (H1, T1,
iﬂ-_'r
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Based on the Venn diagram, find the following probabilities:
a.PH)= o -\ bpE=_le=L c prnE=_3 -Ld pHUE =C’l . 2 e.P(HUE)=_3 =L
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& .5 .25 .75 .25

3. Suppose P(A) =0.15 and P(B) = 0.64, find the following:
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4. The Venn di below shows events A and B where P(4) =0.5, P(AU B) = 0.3 and
P(A n B) =0.2. The values m, n, p and g are probabilities. et unese = %
Pl4)=.5
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a. Write down the value ofn. =— () =

b. Find the value of m, of p, and of q.
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5. If you draw an M&M candy at random from a bag of M&M'’s, the candy you draw will have one of

six colors. The probability of drawing each color depends on the proportion of each color among all
candies made. Assume the table below gives the probability that a randomly chosen M&M has each

color.

Color Brown Red Yellow Green Orange Blue
Probability  0.05 025 (.25 015  0.20 10
V 4

a. Determine the probability of drawing a yellow M&M. Justify your answer.

Total’ = |
J o [_oSf—.:ZS - 5,20 f—.ID) “Eg

b. Determine thef__g_m!;lg_ment of drawing a red or yellow M&M. Justify your answer.

% as edor Vellaw | — Red or Vellow
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6. The following shows a VENN diagram with the results of a survey a teacher gave to all of her students. It
represents where all of the students have gone to eat over the last month.

a. What is the probability of randomly selecting a person from this i roup and

picking a student that has NOT eaten at any of the r taurants

McDonald’s?
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/b. What is the probability of randomly selecting a person from this group and
picking a student that has eaten at Mc Donald’s OR Chick-fil-a?

24F€+124\5
A L_+/W‘—j

28
P ) ) 274
R




7. The table represents the set of outcomes when 2

dice are rolled. Use the table to answer the -
following questions. Be sure to check for mutually E—J
exclusive events. e
a. What is the probability of rolling two dice and [Z]

having SW4 OR getting a sum .l

greater than 10? Les g )
=1 Sk =Ll ”
3chorces 3b : R

b. What is the probability of rolling two standard oo
number cubes to a sum that is even or a sum that [%}

is greater than‘9? mo' By i3
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8. Given, P(A) = 0.4, P(B) = 0.3, P(A and B) = 0.1, determine the probability of P(A or B) if
the two events are inclusive (use either of the diagrams below to help you).
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9. Given, P(A) = 0.5, P(B) = 0.4, determine the probability of¢P(A and B) if the two events are
mutually exclusive (use either of the diagrams below to help you). l
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10. Given, P(A) = 0.5, P(B) = 0.3, P(A or B) = 0.6, determine the probability of P(A and B) if the two
events are inclusive (use either of the diagrams below to help you)? ?[A w@) - P(A—) L P(B) P (14 andd 'Q
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11. In the state of Oregon, all of the area codes start with a number greater than 4 and end in an odd
r

number (e.g. 50J-232-1235, 97}-923-5648). Let A represent th ith
an even number. Let B represent the set of all area codes that could be used in Oregon by the

requirements stated earlier.
Multiple Choice: A (S—f—ur“f’ wf even #) P ( start 74, end oald)

e Which might be an area code that belongs to the set (4 n B)?
A. 403 B. 792 C. 892 D. 631
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e Which might be an area code that belongs to the set (A N B')?

A. 403 B. 792 0 D. 631
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12. In a particular state, the first character on a license plate is always a letter. The last character is
always a digit from 0to 9. Let V represents the set of all license plates beginning with a vowel, and O
represents the set of all license plates that end with an odd nu

ber.
V(Bwrnu w\-l;w VMR O (e-yu{ w/ _O_é___é&)
Which might be a license plate that belongs to the set (V N 0)?




